E7Z-75 VR
mYALIL=Y M UCNBK H#iE

C OUTLINE OF UCNBK )

TelIHES

OZXZ A HRIFR Yy 7 IEED 1= H SEINMS Il UCNBK D#8i& & 5% - #83r
oV A1 N,
o<y MNENE 65,100, 200mm 51 > F v 7,

o ~_ o o BTN 7 . " UCNBKGS@
OAEIF 0°~70°% 5°RUTIM>F v, UCNBK100-G9
UCNBK200:(3)

UCNBK®65,200:®

UCNBK100:)

B UCNBK OF 7> a3

® ¥ —{1ik (-K)
UCNBK®65 UCNBK100/200
LKU25-100 (2 8 M8 RJL hMt) LKU32-50 (318 M8 KL ht)
100 14 3 R s
£l
.50 0 3 oF 52 = ©
b 3 1) Y S
o Emoe T QIS E
. 3 2’\?&/ 14
® UCNBK DA A%
1) RARFERILL (@) 2FEHT L —b (UCNBK65:02 UCNBK100:G9 UCNBK200:03) R/ v &
B2 (@) 254 LET,
e Xy 7% —{Lik (-KA
UCNB/K1001200 < 2) RARMERILNO)EEDTAMy/STL— b (UCNBK65,200:8 UCNBK100:D) %4+ L £ ¢,
LKE25-32-50 (3{& M8 HJL M) 3) DLZRFAZ (D) EHLKILE (D) hSHEHICEEIREET,

50
25

O UCNBK D#L Ai%
1) ML EPBEFDFIETIToTLEEL,
BEHIICEMPMIBELTCVWEWEEEZRELC JUIXEZH UMBAIL TTLEEL,
CHLRAZAZEHLRNGERTIT I ZERBELTVWETOT, HWHShTWEYUTILF>  yeNBK
N— &R THRAI T TS, 65
c DR - HEILTR. RV ROROENREN BWL D TEBELC LS,

737 738

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



769

mYUBLIZ=YP t:7z 7558

¢ AERIAL CAM UNIT

[UCNBK1 00-00

225+0.05
20 200
‘ 32H7 ‘

4-$18-426
2-$16H7

/®e.s
2{)
S

|
I
80+0.02
130
160
@

110
L 75
O/,

160
8D 100(W)
S I
g 283 | ‘
§ T:vel ‘8_ ‘ 74/5
© = ] 7
3 5 cooey-
o S = -
(<>} - | N
65
120° u
o
4-913-920 45 110
83 \ B Cam Diagram
oy
- 7 L D‘Q 2
gy [i7ey" m &
3 (I Qg,o &
- 8 Q ¥
T N 28.3
2-$16H7 ‘ 40005
§> 140

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

/

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
AT BR[| g | o || CatalogNo. | W |
(1005 E) | (307E) =
44.1 88.2 313.3 | 28197
28.3 (4.5) (9.0) (319) | (287.5) 14.3 UCNBK 100 00
Q Order [catalog No.|[ W |-[ 6 |
UCNBK 100 — 00
N P 793 v & ﬂe HARREMR 1S P.737
k" Option —R Tt # TECLEEL,
K FIVEEX-—PRBELET,
KA HLFRIVFIZA MYy THAEOER
F—PRELET,
Order UCNBK100-00 - K
B VT —FTBRARAZY TR Sy TR (TR
EEWR) INTFFMERIE P38 ~2 28
{72,
W Table of Components W7V 7HR (3> FRYBSmmEDFE)

73
L
=
D]
b

No., Description |Qty|Material and Remark oEEZTYLY  TM30-175(2(E)
() |Cam Slider 1 |FC250 with Graphite o ITREH 31.33N/mm (3.19kgf/mm)
@ |Cam Driver 1 |[FC250 o X)L THABBER 507 E
(3 |Cam Holder 1 |[FC250 -
- - ot INCFEmMmEREV RS
@ Uppgr Plate 2 |S45C with Graphite 28197 o N FEmmME IS X TSR B
(® | Positive Return Follower| 2 |S45C(1045) (287.5)
(2 |Stopper Plate 1 [S45C(1045) 03748
Spring Guide Pin 2 |S45C(1045) * 241.8)
() |Coil Spring 2 [TM30x 175 s 3133
Stopper 2 |Urethane (31.9) s I
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) LERES 130 | e=7.1 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 170 ‘ MDA 5
(3 |Lower Plate 2 |Bronze with Graphite BEBE 175
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
- . . N — [ FAN—R
INMBAITRORILN, Sy TEL TydvidERR =
LTWEEA,
UCNBK
100
770

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



771

mRUBLIZ Y E7R-75Y

¢ AERIAL CAM UNIT )

$

YH

-~
UCNBK100-05

225005 4-$18-926
200 2-416H7

110

80+0.02
130
160

32H7

A l% ~283 8
RS B [Travel
° E | '%l D 1
g 7 / —®
o [Os ¢
N
4 g
&
~
3
6.3
4-$13-920 15 110
6.3, ‘
feX-.]
8 :’f:‘l
o) - o
’ ©
4010.0&13
§D‘ 140
2-$16H7

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
A7 menT [Ty AR | CaatogNo.| W | 6
(1005E) | @opmE) | PE 9
441 88.2 313.3 2819.7
28.3 e o | aes | el aso UCNBK | 100 | 05

Q Order

¥,

‘Catalog No.H w ‘—‘

100 ~—

UCNBK
i\ ' /i Option & gz |El
K
KA

v

ft #&

* —fHHFEM I P.737
ETBEE L,

FIVSHF-PRHELET,

F—PHELET,

DLRIVAIZA M)y THBEOEHR

7,

(o order  UCNBK100 - 05 -~ K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

[l Table of Components

W7 748 (5> FEY) B5mmiSDEE)

73
L
=
D]
b

No. Description |Gty Material and Remark . sm=x>2 s TM30-175(2(@)
() |Cam Slider 1 |FC250 with Graphite o ITREH 31.33N/mm (3.19kgf/mm)
@ Cam Driver 1 |FC250 o X)L THABBER 507 [E
(3 |Cam Holder 1 |[FC250 -
- - ot INCFEmMmEREVRET
@ Uppgr Plate 2 |S45C with Graphite g 28197 o N T MmN X TSR B
(® | Positive Return Follower| 2 |S45C(1045) =7 (287.5)
(2 |Stopper Plate 1 [S45C(1045) 03748
Spring Guide Pin 2 |S45C(1045) * 241.8)
(® | Coil Spring 2 |TM30x 175 s 3133
Stopper 2 |Urethane (31.9) s I
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) LERES 130 | e=7.1 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 170 ‘ MDA S
(3 |Lower Plate 2 |Bronze with Graphite BEBE 175
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
- . . R — | [t TAR—ZR
INEHSITHOFIVL, /v TEL, Ty riiRR =
LTWEEA,
UCNBK
100
772

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



773

mRUBLIZ Y E7R-75Y

¢ AERIAL CAM UNIT )

2

-~
UCNBK100-10

225+0.05

4-$18-$26
2-$16H7

280

2-$16H7 40:+0.05

2 140

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

BIIH kN(tonf) [ZTUY T N(kgf)| _ — o
00— = . 2
AT B IR BT g | || CatalogNo. | W | g
(10055[E]) | (30/5[E]) =
44.1 88.2 3133 | 28197
33.3 (4.5) (9.0) (319) | (287.5) 13.3 UCNBK 100 10
Q Order [catalog No.|[ W |- & |
UCNBK 100 — 10
N P *TvaY (65 & — 413 P.737
l" Option :l—i it #& EZBELEEL,
K FIVEEX-—PRBELET,
KA HLFRIVFIZA MYy THAEOER
F—PRELET,

7,

(. order  UCNBK100 =10 - K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E

{fea
[l Table of Components

LYo

WA7) 78R (5 FRY B5mmiZDTEE)

No. Description Qty|Material and Remark  ,=mz—y>s TM30-175(2f@)
() |Cam Slider 1 |FC250 with Graphite o [FEE 31.33N/mm (3.19kgf/mm)
@ Cam Driver 1 |FC250 e XTI THABHBER 507 E
(3 |Cam Holder 1 |[FC250 -
- - LN FEmmER B
@ |Upper Plate 2 |845C with Graphite (e 2810.7 :: /V‘/?SmmEUE%XTU‘/'jEUE
(®) |Positive Return Follower| 2 |S45C(1045) = (287.5)
(2 |Stopper Plate 1 [S45C(1045) 0443.7
Spring Guide Pin 2 |S45C(1045) & (248.8)
(® | Coil Spring 2 [TM30x 175 o 3133
Stopper 2 |Urethane (31.9) 4 1
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) LERES 190| | e=6.0 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 170 ‘ MERf-bH 5
(3 |Lower Plate 2 |Bronze with Graphite BEBE 175
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
- . . . _ ¢ FTEAN—R
INEHSITHOFIVL, /v TEL, Ty riiRR whmE
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

73
L
=
D]
b

UCNBK
100

774



775

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT ) @
s
UCNBK100-15
) 2254005 4-$18-426
° 20‘ 200 ‘ 2-$16H7
A\ ol )
i &

110

(=]
<
o
Q0|
QA
6.3
4-$13-420
6.3
B Cam Diagram
g ¢
= g g 0
(5]
T ~
|
%7
3 140
© 2-$16H7
J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

BIIH kN(tonf) [ZTUY T N(kgf)| _ — o
00— = . 2
AT B IR BT g | || CatalogNo. | W | g
(10055[E]) | (30/5[E]) =
44.1 88.2 3133 | 28197
33.9 (4.5) (9.0) (319) | (287.5) 15.0 UCNBK 100 15
Q Order [catalog No.|[ W |- & |
UCNBK 100 — 15
N P ATIvay * —{HHEEEEIE P.737
l" Option J—R it #& EZBELEEL,
K FIVEEX-—PRBELET,
KA HLFRIVFIZA MYy THAEOER
F—PRELET,

7,

(. order  UCNBK100 =15 - K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E

{fea
[l Table of Components

LYo

W7 748 (5> FEY) B5mmiSDEE)

73
L
=
D]
b

No. Description |Gty Material and Remark . sm=x>2 s TM30-175(2(@)
() |Cam Slider 1 |FC250 with Graphite o ITREH 31.33N/mm (3.19kgf/mm)
(@|Cam Driver 1 |[FC250 SATVIMAEREL  507E
(3 |Cam Holder 1 |[FC250 -
- " o INFEmmERYRE TR
@ Uppgr Plate 2 |S45C with Graphite g 28197 o N T MmN X TSR B
(® | Positive Return Follower| 2 |S45C(1045) =7 (287.5)
(2 |Stopper Plate 1 [S45C(1045) £450.0
Spring Guide Pin | 2 |S45C(1045) * 249.4)
(® | Coil Spring 2 |TM30x 175 s 3133
Stopper 2 |Urethane (31.9) s I
@ |Cam Bottom Slide Plate| 1 |S45C(1045) REREE190| | _e=59 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 170 ‘ MDA S
(3 |Lower Plate 2 |Bronze with Graphite BEBE 175
Plate 2 [SS400(1020)
22 |Screw Plug 2 |S45C M12
. . s - — 1 T ANR—
INBAITRADKILN, Sy TEs, Tyividm BigHREAN—2
LTWEEA,
UCNBK
100
776

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



777

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

-~
UCNBK100-20

225+0.05
20 ‘ 200 ‘ 4-$18-$26
Kg ‘ ‘__,’LW ‘ 2-$16H7

@Y )
o L

[\_i + . 8

=1 | - g 5 8| 3

O -

165

280

109.5

4-$13-420
63

B Cam Diagram

| AL N % e
OS5 -3
S

160
130+0.02
Lo |

2-$16H7 ‘ 40+0.05

140

e
o

_ A7 kN(tonf) |ZFU V573 N(kaf)|  — -
AT RENIARENIA iy | g | ke | CatalogNo.| W | 6
(10075 )| (3075[E]) =
441 88.2 219.3 2558.5

30.9 45) 00 | @24 | @609 13.8 UCNBK | 100 | 20

Q Order [catalog No.|[ W |-[ 6 |
UCNBK 100 — 20

N P DEP [ F —HHRFFE IS P.737
Wy o 22 il et e

K FIVSHF-PRHELET,

KA DLRIVAIZA M)y THBEOEHR
F—PRELET,

7,

(o order  UCNBK100 =20 - K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

W Table of Components W7V T#HE (> FEYB5mmEEDTHE)

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

No. Description  Qty|Material and Remark  ,=m=—y>s TM30-150(2f@)
() |Cam Slider 1 |FC250 with Graphite o lFEE 36.55N/mm (3.73kgf/mm)
@ |Cam Driver 1 |[FC250 e 27 UM ABEBR 10075 [E]
(3 |Cam Holder 1 |[FC250 _
@ |Upper Plate 2 |S45C with Graphite 2558.5 ol NAFESMMREVEFE
: TIN VEFRTN)2 E
() |Positive Return Follower| 2 |S45C(1045) RIE (260.9) o/ FEMMRIBAT Y TRIR
(2 |Stopper Plate 1 [S45C(1045) 01784
Spring Guide Pin 2 |S45C(1045) (222_'3)
(® | Coil Spring 2 |TM30x 150 I 219.3
Stopper 2 |Urethane +722.9) n L
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) QERES 115] | e=52 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite ERR & 147 Db H 3
(3 |Lower Plate 2 |Bronze with Graphite BHEE 150
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
- . . . — [ EAN—R
INBAITRDORILN, Sy TEL, TyividFRR Wik
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

73
L
=
D]
b

UCNBK
100

778



779

mRUBDLIZ Y E7R-75/CH

( AERIAL CAM UNIT ) @
4 N
UCNBK100-25
2 225:+0.05 4-$18-926
) 29‘ 200 ‘ 2-$16H7
Q\ T )
== 4
" Rl

110
75
/M M
i
,—‘lei{
rﬁq
80+0.02
130
160

o o 2
vl m] ¥
w0
©
Y
(=]
0|
N
n
)
=
6.3
4-$13-$20
6.3
J
g2 13
& &
© 2-$16H7
J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
A7 menT [Ty AR | CaatogNo.| W | 6
(1005E) | @opmE) | PE 9
441 88.2 219.3 2558.5
32.0 e oo | ey | Tees | 1s0 UCNBK | 100 | 25

Q Order

¥,

‘Catalog No.H w ‘—‘

100 ~—

UCNBK
i\ ' /i Option & gz |El
K
KA

v

ft #&

* —fHHFEM I P.737

EZELZE L,

FIVSHF-PRHELET,

F—PHELET,

DLRIVAIZA M)y THBEOEHR

7,

(o order  UCNBK100 - 25 -~ K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

[l Table of Components

W7 748 (3> FEY) B5mmESDEE)

73
L
=
D]
b

No., Description |Qty|Material and Remark oEEZTYLY  TM30-150 (2(E)
() |Cam Slider 1 |FC250 with Graphite o ITREH 36.55N/mm (3.73kgf/mm)
@ |Cam Driver 1 |Fc250 o X)L THABBER 100A[E
(3 |Cam Holder 1 |[FC250 -
- - ot INCFEmMmEREVRET
@ Uppgr Plate 2 |S45C with Graphite g 25585 o N T MM X TSR B
(® | Positive Return Follower| 2 |S45C(1045) =7 (260.9)
(2 |Stopper Plate 1 [S45C(1045) 21930
Spring Guide Pin 2 |S45C(1045) * 2238)
(® | Coil Spring 2 |TM30x 150 s 2193
Stopper 2 |Urethane (22.4) s I
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) QERES 15| | =50 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 147 | NEHH 3
(3 |Lower Plate 2 |Bronze with Graphite BHEE 150
Plate 2 [SS400(1020)
22 |Spacer 2 |SS400
@ |Screw Plug 2 [s45C M12 WEHREAR—R
INMASITRDKIV, JyTES Tydviddn
LTWEEA,
UCNBK
100
780

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



781

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

-~
UCNBK100-30

~

225+0.05
20 ) 200 4-$18-$26

(2] ‘ ¢ 30
K«s ‘ | 32H7 ‘ 2-$16H7 Y/\ ‘ﬂ
ﬁf“’
- 7] L > X

W Cam Diagram

110
75
I_lil_l
T
|
ﬁ
80=+0.02
130
160

280

L
>

6.3

4-$13-420
63

160
130+0.02

2-$16H7 ! 40+0.05
2 130

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
A7 menT [Ty AR | CaatogNo.| W | 6
(1005E) | (opE) | PE | BE 9
441 88.2 175.4 2807.0
335 e oo | e S ss UCNBK | 100 | 30

Q Order

¥,

‘Catalog No.H w ‘—‘

100 ~—

UCNBK
i\ ' /i Option & gz |El
K
KA

v

ft #&

* —fHHFEM I P.737
ETBEE L,

FIVSHF-PRHELET,

F—PHELET,

DLRIVAIZA M)y THBEOEHR

7,

(o order  UCNBK100 =30 - K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

[l Table of Components

W78 (> FRY B5mmiZDTEE)

No. Description  |Qty|Material and Remark . sm=>1)2 s TM30-125 (2fE)
() |Cam Slider 1 |FC250 with Graphite o ITRTEH 43.86N/mm (4.47kgf/mm)
@ Cam Driver 1 |FC250 o X7 THABBER 1007 E
(3 |Cam Holder 1 |[FC250 P —
@ |Upper Plate 2 |S45C with Graphite £ 2807.0 b /\”;5»522%;%1;]7“'»7;»)5
(® | Positive Return Follower| 2 |S45C(1045) (286.2)
(@ |Stopper Plate 1 |S45C(1045)

t = o« 24123
Spring Guide Pin 2 |S45C(1045) (245.9)
(@ |Coil Spring 2 |TM30x 125 E1T54
Stopper 2 |Urethane (17.9) 1
{1 |Cam Bottom Slide Plate| 1 |S45C(1045) LEBEE 93| | o-4s5 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 123 ‘ MEr-bH 2
(3 |Lower Plate 2 |Bronze with Graphite BHEE 125
Plate 2 [$5400(1020)
@2 |Screw Plug 2 |845C M12
INEASITHDFIVS, ST Ty ridn BigHREAN—2

LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

73
L
=
D]
b

UCNBK
100

782



783

mRUBDLIZ Y E7R-75/CH

¢ AERIAL GAM UNIT )
-~
UCNBK100-35
&) 225+0.05 4-918-426
‘ 200 2-$16H7

110
|
801‘0.02
130
160

32H7

60:£0.05

17| 240

-

40
38

125

280

132.4

6.3

4-613-$20
6.3,
Bl Cam Diagram
| o KO\
(2] o
4 f] o
w
aV]

2-$16H7

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
AT B IR BT g | || CatalogNo. | W | g
(1005E]) | (305E) =
441 88.2 175.4 2807.0
35.3 45) 00 | 179 | @862 15.0 UCNBK | 100 | 35
Q Order [catalog No.|[ W |-[ 6 |
UCNBK 100 — 35
N P DEP [ F —HHRFFE IS P.737
Wy o 22 il e

K FIVSHF-PRHELET,

DLRIVAIZA M)y THBEOEHR

KA 15 pamLEs,

7,

(o order  UCNBK100 - 35 - K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

W Table of Components W7V 7HR (3> FRYBSmmEDFE)

73
L
=
D]
b

No. Description  |Qty|Material and Remark . sm=>)2 s Tm30-125(2(@)
() |Cam Slider 1 |FC250 with Graphite o ITREH 43.86N/mm (4.47kgf/mm)
@ Cam Driver 1 |FC250 o X)L THABBER 1004 [E
(3 |Cam Holder 1 |[FC250 -
: ; at /X FEmmERE R
@ |Upper Plate 2 |545C with Graphite 4&F2807.0 e I FEMMENER T LT RYE
(® | Positive Return Follower| 2 |S45C(1045) = (286.2)
(@ |Stopper Plate 1 |S45C(1045) 24386
Spring Guide Pin 2 |S45C(1045) * 248.5)
(@ |Coil Spring 2 |TM30x 125 s 1754
Stopper 2 |Urethane (17.9) I
@ |Cam Bottom Siide Plate| 1 |S45C(1045) QEBES 03| | e=d.2 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 123 ‘ MDA 2
(3 |Lower Plate 2 |Bronze with Graphite BEE 125
Plate 2 [$5400(1020)
22 |Spacer 2 |SS400
@ |Screw Plug 2 [s45C M12 WEHREAR—R
INMASITRDKIV, JyTES Tydviddn
LTWEEA,
UCNBK
100
784

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



785

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

-~
UCNBK100-40

~

225+0.05

20 200
BN
©l 32H7

Bl Cam Diagram
4-418-926

2-416H7

o

Te)

r&»\
ﬁ =

Nl e
%, 9

@

¢ A
('\Ad‘\,
NG

)\

75

110

ﬁ
80-0.02
130
160

L

95

280

145.3

4-#13-¢20
6.3 ‘

160
130=+0.02
Glo
4o

2-¢16H7 40005

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
AT B IR BT g | || CatalogNo. | W | g
(1005E]) | (305E) =
441 88.2 175.4 2807.0
39.0 45) 00 | 179 | @862 15.8 UCNBK | 100 | 40
Q Order [catalog No.|[ W |-[ 6 |
UCNBK 100 — 40
N P DEP [ F —HHRFFE IS P.737
Wy o 22 il e

K FIVSHF-PRHELET,

DLRIVAIZA M)y THBEOEHR

KA 15 pamLEs,

7,

Qe /o UCNBK100-40-K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

W Table of Components W7V 7HR (3> FRYBSmmEDFE)

No., Description |Qty|Material and Remark oEEZTYLY  TM30-125(2(H)
() |Cam Slider 1 |FC250 with Graphite o IERTEEH 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |[FC250 o X)L THABBER 100A[E
(3 |Cam Holder 1 |[FC250 RSP——
@ |Upper Plate 2 |S45C with Graphite & 2807.0 : /V;?smmgv)li;;?"')’/ﬁﬁui
(®) |Positive Return Follower| 2 |S45C(1045) "~ (286.2)
(2 |Stopper Plate 1 [S45C(1045) 0473.7
Spring Guide Pin | 2 |S45C(1045) “ es2.1)
(@ |Coil Spring 2 |TM30x 125 E_1754
Stopper 2 |Urethane (17.9) 1
@ |Cam Bottom Slide Plate| 1 |S45C(1045) @EHEX 03| | e=38 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite WERFR S 123 ‘ MHiz=bH 2
(3 |Lower Plate 2 |Bronze with Graphite BHEE 125
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
m%ﬁ&ﬁ’fﬁﬁ@/‘ﬁ)bh Iy 7E Ty wIERR BigHREAN—2
LTWEEA,

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

A
L
=
D]
b

UCNBK
100

786



787

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

-~
UCNBK100-45

225+0.05 4-$18-926
200 2-$16H7

Q 1 &
==

;
I

HEP'N
>

o
8
O o O
2w 9 o ®
- & 2 2
@
| —T—
. e
i N
7 € ;T/éﬁ
|
R

y
<
wn
o)
(=]
[ee]
N
~
o
[
6.3
4913920 o oo
6.3 ‘
KR 3 .
O BCam Diagram
8 ‘B 30
IO O
©| | 41 9
Ik o
PN @
Qﬁ\ >
2-$16H7 40+0.05
o 120
©l|
\_

73
L
=
D]
b

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

BIIH kN(tonf) [ZTUY T N(kgf)| _ — o
00— = . 2
AT B IR BT g | || CatalogNo. | W | g
(10055[E]) | (30/5[E]) =
44.1 88.2 1754 | 2807.0
422 .5) (9.0) (17.9) | (286.2) 15.0 UCNBK 100 45
Q Order [catalog No.|[ W |- & |
UCNBK 100 — 45
N P ATIvay * —{HHEEEEIE P.737
l" Option J—R it #& EZBELEEL,
K FIVEEX-—PRBELET,
KA HLFRIVFIZA MYy THAEOER
F—PRELET,

7,

Qe /o UCNBK100-45-K

UF—FREAZ TR LS9 IR (TR
EEFR) MTHMLERIE P89 ~2E
(10

[l Table of Components

W7 748 (5> FEY) B5mmiSDEE)

No., Description |Qty|Material and Remark oEEZTYLY  TM30-125(2(E)
() |Cam Slider 1 |FC250 with Graphite o ITREH 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |[FC250 o X)L THABBER 1004 [E
(3 |Cam Holder 1 |[FC250 -
- - ot INCFEmMmEREVRET
@ Uppgr Plate 2 |S45C with Graphite g 2807.0 o N T MmN X TSR B
(® | Positive Return Follower| 2 |S45C(1045) =7 (286.2)
(2 |Stopper Plate 1 [S45C(1045) 24912
Spring Guide Pin 2 |S45C(1045) * 1253.9)
(® | Coil Spring 2 |TM30x 125 s 1754
Stopper 2 |Urethane (17.9) I
@ |Cam Bottom Siide Plate| 1 |S45C(1045) @ERBEX 03| | e=36 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 123 ‘ MDA 2
(3 |Lower Plate 2 |Bronze with Graphite BEE 125
Plate 2 [$5400(1020)
22 |Spacer 2 |SS400
) |Screw Plug 2 |S45C M12 WEHREAR—R
INEBSITRDFIVL, Sy TES TyivdRR
LTWEEA,
UCNBK
100
788

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



| O >
“ _— 5 ¢
BYALI=YDM EFR-75VCH
¢ AERIAL CAM UNIT ) @ i
e ™ ?
- | MIAkNtonf) [ZFUVHAN(Kkef)| - - _
UCNBK100-50 AT B IR BT g | || CatalogNo. | W | g
(1005 E]) | (30/5E) =
2954005 44.1 88.2 175.4 | 2807.0
” oo . 46.7 (4.5) (9.0) (17.9) (286.2) 16.9 UCNBK 100 50
IR 82H7 2-#16H7 Bl Cam Diagram ’Q Order [catalog No.|[ W |- & |
{} L 7€kr\ 30 UCNBK 100 — 50
S — N P - DED] 5 & — (LIS B 1S P.737
—l— | o Option — R Tt & - Es o \
o . O SN I o (V] J-—F EZBLEEL,
g e Eff% R =pEE AN .
1] 1N K | #AVdRx—rRELET.
R I (R %
A~ ¢ ’*{éi\\
& Y KA BALRILEIZA MYy THAEOER
60-+0.05 125] 6.3 X—PRELET,
16| 240

7,

Qe /o UCNBK100-50 -K
UVr—F+BfRE2y TR /v IR (TR

789

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

EEWR) INTFFMERIE P38 ~2 28
o LTTJ /@ (G -10%
g Sl L & M Table of Components W27V THE (X2 FRYESmmEBORESE)
9 E '@@ . No. Description  Qty|Material and Remark . sm2-1)2 s TM30-125(2f@)
- - 2 I : (® |Cam Slider 1 |FC250 with Graphite o IFREH 43.86N/mm (4.47kgf/mm)
§ L &\ 7 &\ @ |Cam Driver 1 |[FC250 o X7 U MARBBER 10075 [E]
RN S (3| Cam Holder 1 |[FC250 e
© N v @ |Upper Plate 2 |S45C with Graphite ar NAFSMMREVEEHE
g = > 1 2 (®) |Positive Return Follower| 2 |S45C(1045) HEE (2285?6720) & /TS MMRIRATYTRIE
| N 7 (@ |Stopper Plate 1 |S45C(1045) 0526.3
8l P m ngi i 3[ Spring Guide Pin 2 |S45C(1045) * "(257.5)
5 . R (@ |Coil Spring 2 |TM30x 125 175.4
3 Y10 230 Stopper 2 |Urethane I (17.9) ||
@ |Cam Bottom Slide Plate| 1 |S45C(1045) BEBES 03| | e=32 ‘
4-$13-$20 {2 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERRE 123 MHhH 2
63 (3 |Lower Plate 2 |Bronze with Graphite BHE 125 ‘
Plate 2 [$5400(1020)
@2 |Screw Plug 2 |845C M12
3 % RS J INEASITHDFIVS, ST Ty ridn METHREAN=Z
- ?_a | P E[ LTWEEA, '
© Y
*
2-416HZ | 40+0.05 F:’ = °
b 120 132

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

UCNBK
100

790



791

-~
UCNBK100-55

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

) 225+0.05 4-$18-926
- 20‘ 200 ) 2-#16H7
|
N )
A\ ol =
'~
o g U — Y1 {48 -
O )

@
6.3,
&
(o]
0|
(=]
|
8V
~
o
©
oy
63 P
4-$13-¢20 15 %
6.3 ‘
(/:\ z(
o 8 O B Cam Diagram
'E @ﬁj %0
? @ |
S Ql
> ¥ ¢
2-416H7 \D‘4<—~°t°‘°5 @ 3
3 120 P
- /

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

_ I kN(tonf) | ZTUVSHIN(kgf)| _ — -
A7 menT [Ty AR | CaatogNo.| W | 6
(1005E) | @opmE) | PE 9
441 88.2 175.4 2807.0
52.3 e oo | s S UCNBK | 100 | 55

Q "~ | Order

¥,

‘Catalog No.H w ‘—‘

100 ~—

UCNBK
i\ ' /i Option & gz |El
K
KA

v

ft #&

* —fHHFEM I P.737
ETELLE,

FIVSHF-PRHELET,

F—PHELET,

DLRIVAIZA M)y THBEOEHR

7,

(o order  UCNBK100 - 55 - K

Fr—FBfRE2y TR /Ly TR (TR
EEGR) MM P38 ~%22 8
{FE& N,

[l Table of Components

W7 748 (5> FEY) B5mmiSDEE)

73
L
=
Z
b

No. Description  |Qty|Material and Remark . sm=>)2 s Tm30-125(2(@)
() |Cam Slider 1 |FC250 with Graphite o ITREH 43.86N/mm (4.47kgf/mm)
@ Cam Driver 1 |FC250 o X)L THABBER 1004 [E
(3 |Cam Holder 1 |[FC250 -
: ; at /X FEmmERE R
@ |Upper Plate 2 |545C with Graphite 4&F2807.0 e I FEMMENER T LT RYE
(® | Positive Return Follower| 2 |S45C(1045) =7 (286.2)
(2 |Stopper Plate 1 [S45C(1045) 95507
Spring Guide Pin 2 |S45C(1045) (260.2)
(@ |Coil Spring 2 |TM30x 125 s 1754
Stopper 2 |Urethane (17.9) I
@ |Cam Bottom Siide Plate| 1 |S45C(1045) QERES 03| | e=29 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 123 ‘ MDA 2
(3 |Lower Plate 2 |Bronze with Graphite - BEE 125 .
Plate 2 [$5400(1020)
@2 |Screw Plug 2 |845C M12
- . . . — [ FAN—R
IN#EASITRORIN, JyTEL TydvidsR ek
LTWEEA,
UCNBK
100
792

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



793

mYALIZ=YP E7R- 750
( AERIAL CAM UNIT ) @

: N
UCNBK100-60
225+0.05
20 200 4-$18-926 .Cam Diagram
> 9 32H7 2-416H7 30
Qlel R4
il o
|: 1 N ol Q
2| v > s 8 3 % °
=N T . T 28
C 1°
m
*I ””””””””” N
© ©
60-0.05 <2_5> /%
16| 240
o
6.3
|
<
b 2
0|
[Te}
3
(=]
Q|
§Y
o
©
T =
8 R
3 @ 240
4-$13-420 15 80
6.3 ‘
3
8
3
8 J
e
O
2-$16H7 40+0.05
o 110
e
J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

| BITAkN(onf) [RTUVIANKI| - =  pee
AT RENIARENIA iy | g | ke | CatalogNo.| W | 6
(100510])| (3073[E]) "=
441 88.2 175.4 2807.0

60.0 45) 00 | (79 | @862) 17.6 UCNBK | 100 | 60

Q Order [catalog No.|[ W |- & |
UCNBK 100 — 60

N P DFEP (& ¥ —{LiRFFM X P.737
i'j onen 7377 k- o

K FIVSHF-PRHELET,

KA DLRIVAIZA M)y THBEOEHR
F—PRELET,

7,

Q‘ order  UCNBK100 - 60 ~ K

Fr—FBfRE2y TR /Ly TR (TR
EEGR) MM P38 ~%22 8
{FE& N,

W Table of Components BX7YV7HE (5> FRYESmmEEOTESE)

No., Description |Qty|Material and Remark oEEZTYLY  TM30-125 (2(H)
() |Cam Slider 1 |FC250 with Graphite o ITRTEE 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |[FC250 o X7 UMM ARBBER 10075 [E]
(3 |Cam Holder 1 |[FC250 .
; : a INFEmmERY R
@ Uppgr Plate 2 |845C with Graphite s F.2807.0 e INUFEMMRVER T TR B
(® | Positive Return Follower| 2 |S45C(1045) ~=-286.2)
(2 |Stopper Plate 1 [S45C(1045) 05877
Spring Guide Pin 2 |S45C(1045) “ 1263.7)
(® | Coil Spring 2 |TM30x 125 pE_1754
Stopper 2 |Urethane (17.9) L
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) LEBES 93 e=25 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite ERFR S 123 ‘ 1H7=bdH 2
(3 |Lower Plate 2 |Bronze with Graphite BHEE 125
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
i s . N — f EAN—R
INBAITRDORILN, Sy TEL, TyividFRR Wil
LTWEEA,

g

O

= B8 o

134

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

73
L
=
D]
b

UCNBK
100

794



795

mRUBDLIZ Y E7R-75/CH

¢ AERIAL CAM UNIT )

-~
UCNBK100-65

™) 225+0.05
o]

20‘ 200
K ST

4-$18-926
2-$16H7

C [ : g °
‘% ﬁ m s }7 g 59)_ g i
C o -
] ! ©
e ik iy, \ult (il .
O © o
32H7 |25] 63
60-+0.05
16| 240

- &
o &
©
o
= ,;’&
E \‘\l‘)/ \) 2 N
: D8
S . .
JENITTEN
63 & |29 2
255.94
4-$13-920 o o
6.3,
O B Cam Diagram
- | | 30
8 e
g ¢ i@ﬁ, g N
Y 8 ol
e o) o
. 2
—————— =) o
Cr AR
2.¢16H7 2008
3 110

ol

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

BIIH kN(tonf) [ZTUY T N(kgf)| _ — o
00— = . 2
AT B IR BT g | || CatalogNo. | W | g
(10055[E]) | (30/5[E]) =
44.1 88.2 1754 | 2807.0
70.9 (4.5) (9.0) (17.9) | (286.2) 17.0 UCNBK 100 65
Q Order [catalog No.|[ W |- & |
UCNBK 100 — 65
N P ATIvay * —{HHEEEEIE P.737
l" Option J—R it #& EZBELEEL,
K FIVEEX-—PRBELET,
KA HLFRIVFIZA MYy THAEOER

F—PHELET,

7,

(o order  UCNBK100 - 65 ~ K

Fr—FBfRE2y TR /Ly TR (TR
EEGR) MM P38 ~%22 8
{FE& N,

[l Table of Components

W7 748 (3> FEY) B5mmESDEE)

73
L
=
Z
b

No., Description |Qty|Material and Remark oEEZTYLY  TM30-125(2(E)
() |Cam Slider 1 |FC250 with Graphite o ITREH 43.86N/mm (4.47kgf/mm)
@ |Cam Driver 1 |[FC250 o X)L THABBER 100A[E
(3 |Cam Holder 1 |[FC250 -
- - ot INCFEmMmEREVRET
@ Uppgr Plate 2 |S45C with Graphite 5528070 G R
(® | Positive Return Follower| 2 |S45C(1045) =7 (286.2)
(2 |Stopper Plate 1 [S45C(1045) 26208
Spring Guide Pin 2 |S45C(1045) * 267.3)
(® | Coil Spring 2 |TM30x 125 o 1754
Stopper 2 |Urethane (17.9) I
1| Cam Bottom Slide Plate| 1 |S45C(1045) $ERES 93| | e=2.1 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite HERFR S 123 ‘ b H 2
(3 |Lower Plate 2 |Bronze with Graphite BEBE 125
Plate 2 [$5400(1020)
@2 |Screw Plug 2 |845C M12
- . . _  EEHREAR-R
INBAITROFIN, /97> TyridFR -
LTWEEA,
UCNBK
100
796

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



797

4,

ﬁ%")tll\:l._v P E7R-7500R0

AERIAL CAM UNIT ) @

: N
UCNBK100-70
225+0.05
m Diagram
20 200 4-$18-926 WCa agra
20
@ 9 32H7 2-$16H7 "7
a1 ) .
[ ' )
= » < 2
I: _l_ g g v 0 /\D
O %
e
"—r’"I ””””””””””” ;,«,q‘ﬂl
60-0.05 125 /GA:B
6.3,
)| N
o
(<<}
(Y
o
@
a
©
o
~
i
(3]
)
6.3 <
4-$13-$20
6.3
I}
8 g
e
2-$16H7 40+005
I 110
©|
\_ J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

4 IITF kN(tonf) |ZTUVTHINKG)| o = , e
AT RENIARENIA iy | g | ke | CatalogNo.| W | 6
(100510])| (3073[E]) "=
441 88.2 548.3 2741.5

585 45) 00 ©50) | 2796 15.9 UCNBK | 100 | 70

Q Order [catalog No.|[ W |- & |
UCNBK 100 — 70

N P B F —HARFFM 1 P.737
i'j Option 7i|ElJ Tt & . EIELEE N,

K FIVSHF-PRHELET,

DLRIVAIZA M)y THBEOEHR
F—PRELET,

Order  UCNBK100-70 - K

BT —FRAEZY TR /IR (TR
EEGR) MM P38 ~%22 8
{FE& N,

[l Table of Components

KA

W7 78R (3> FRY) B5mmiZDTHE)

No., Description |Qty|Material and Remark oBEZTULY  TM30-100 (2(E)
() |Cam Slider 1 |FC250 with Graphite o IFRTEH 54.83N/mm (5.59kgf/mm)
(2 |Cam Driver 1 |FC250 o X7 UMRABBER 1007 E
(3 |Cam Holder 1 |FC250 U
- - a INFEmmERY)EET
@ |Upper Plate 2 |S45C with Graphite @F 27415 e: ,\=~/_7_5mmge)ﬂg;<7°u\/7‘§u§
(® | Positive Return Follower| 2 |S45C(1045) (279.6)
(2 |Stopper Plate 1 [S45C(1045) o555 1
Spring Guide Pin 2 |S45C(1045) * 2605)
(@ |Coil Spring 2 |TM30x 100 4pE._548.3
Stopper 2 |Urethane (55.9) 1
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) LEBES 75 e=17 ‘
({12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite ERFREE 95 H-hH 5
(3 |Lower Plate 2 |Bronze with Graphite BEE 100
Plate 2 [SS400(1020)
@2 |Screw Plug 2 |845C M12
- . . N — [ FAN—R
INEHSITHOFIVL, /v TEL, Ty riiRR whmE
LTWEEA,

o,

O

= 8§ e

142

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

73
L
=
Z
b

UCNBK
100

798



